

A11927099 SEFMLS© 2025



\$834,999

3461 1ST ST, HOMESTEAD, FL, 33033

<https://ritterproperties.com>

Discover the perfect blend of space, elegance, and resort-style living in this stunning two-story home set on an impressive 11,980 sq. ft. lot. Boasting a 3-car garage and an expansive driveway, this residence offers both comfort and convenience for families, entertainers, and those seeking elevated living. With 5 bedrooms, 4 bathrooms, and 4,320 sq. ft. [...]

- 5 beds
- 4 baths
- Residential
- Single Family Residence
- Active
- 3696 sq ft

Basics



Date added: Added 3 months ago

Type: Residential

Bedrooms: 5 beds

Half baths: 0 half baths

Area: 3696 sq ft

SubdivisionName: BAYWINDS OF DOMINICA AND

GarageSpaces: 3

ListAOR: Miami Association of REALTORS®

Category: Single Family Residence

Status: Active

Bathrooms: 4 baths

Total rooms: 10

Lot size, sq ft: 11980 sq ft

ListOfficeName: Coldwell Banker Realty

View: Garden, Pool

MLS ID: A11927099

Rooms



Room type	Dimensions	Area	Length	Width
Grt Rm	21'6"x15'3"	327.875	21.5	15.25
Kitchen	12'9"x13'0"	165.75	12.75	13
LivingRoom	17'4"x12'2"	210.888888888	17.333333333	12.166666666
PrimaryBedroom	14'8"x18'6"	271.333333333	14.666666666	18.5
FifthBedroom	14'3"x10'11"	155.5625	14.25	10.916666666
Other Room	10'0"x8'4"	83.333333333	10	8.333333333
DiningRoom	11'10"x10'10"	128.194444444	11.833333333	10.833333333
SecondBedroom	11'2"x11'6"	128.416666666	11.166666666	11.5
ThirdBedroom	13'6"x11'6"	155.25	13.5	11.5
FourthBedroom	13'6"x10'11"	147.375	13.5	10.916666666

Building Details

Cooling features: Ceiling Fan(s), Central Air

ArchitecturalStyle: Detached, Two Story, Other

Building Name: BAYWINDS OF DOMINICA AND

Exterior material: CBS Construction, Concrete Block Construction

Parking: Additional Spaces Available, Circular Driveway, Driveway

Year built: 2016

NewConstructionYN: No

Heating: Central

Roof: Curved/S-Tile Roof



Amenities & Features

Features: Built-in Features, First Floor Entry, No Additional Rooms, Other, Pantry, Roman Tub, Walk-In Closet(s), Wet Bar

Amenities: Dishwasher, Disposal, Dryer, Electric Range, Microwave, Other Equipment/Appliances, Refrigerator, Washer, Water Softener Owned

WindowFeatures: Complete Accordion Shutters, Blinds, Drapes, Other Windows

PoolFeatures: In Ground, Heated

GarageYN: Yes

CoolingYN: Yes

FireplaceYN: No

Security Features: Smoke Detector

CommunityFeatures: Gated, Clubhouse, Pool, Exercise Room, Gated Community, Maintained Community, Mandatory Hoa, Picnic Area, Private Roads

ExteriorFeatures: Lighting, Fruit Trees, Other

Waterfront available: No

AttachedGarageYN: Yes

PoolPrivateYN: No

